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Instructions :
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(i)
(ii)

(iii)
(iv)
(v)

(vi)

Read the paper carefully. All questions in each section are compulsory. Students
may use bilingual mediums (both English and Hindi) for writing, in which
technical terms should be written in English medium.

Marks for questions are indicated against each.

Questions carrying 1 mark are very short-answer questions, required to be
answered in one sentence each.

Questions carrying 2 marks are short-answer questions. Answer to them should
not exceed 20-30 words each.

Questions carrying 3 marks are also short-answer questions. Answer to them
should not exceed 40-60 words each.

Questions carrying 4 marks are short-answer questions. Answer to them should
not exceed 60-70 words each.

Questions carrying 5 marks are long-answer questions. Answer to them should not
exceed 100-120 words each.

e fershl (sale) Tt AN o SIS & A1 $EhT 91 IROMH BIaT 8 7

What

afy

will happen if sale is equal to the total cost ?

AT (Period costs) o IS g 3TN €IV |

Give any two examples of period costs.

Th. 3. Th. 370, (FIFO) & g oy ferfaw |

Write

two advantages of FIFO.

&t 31, &, (BOT) 61 e &t it FRRR 1 & St 8 2 =0 7
Which copy of BOT is given to cashier ? Why ?

R=w @ e gged e ?

What

do you understand by Re-chef ?

Eirel ThIeh & (Volume forecasting) o QAT =T o AT &1y |

Name the two stages of volume forecasting.
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7. THR UG ATHI (Shell-fish) T HISROT fohd qTom™ WX foharm Sran @ 2 1
What is the storage temperature of tomatoes and shell-fish ?

8. Wmmmwm(storekeeper)@?lﬁﬁw%? 1
Which form is filled by the store keeper for issuing goods ?

9. WM SHTd 99T W& 39e5Y o <l 3800 ST | 2

Give two examples of food wastage during food preparation.

10. B & oY (Profit) T8 Wiet W R #td & | 39 ®e Y gfY IR Igewr Afea
T | 2

Profit of a hotel depends on correct purchase. Support this statement with the help of
four examples.

11.  HARE AFTd w17 7 39! fohgl ol I¢Tevn dfgd THesy | 2
Explain uncontrollable costs with the help of any two examples.
12.  @fig (Purchase) % & HewqUl 3e¥ai ! ffi | 2
Write two important aims of purchasing.
13. I 1 Garre fobd =R atE & granedt ¥ el g Tehar g 7 2
YT

Teh @I o TR G W Bleet H aTETer<! shl UehmH s Tehd & ?

Identify four ways a cashier of a hotel may be involved in frauds.
OR

In what four ways can an accountant prevent frauds in a hotel ?

14. 3 (Ullage) | 319 &1 GHFA & ? 378 h8l HHTCT ST 8 ? 2
What do you understand by ullage ? How are they handled ?
15. it faemT (Receiving Department) foha =R ﬂ%’r_or@ 3UHTTT BT TN ShdT & ? 2

List any four important equipments used by the receiving department.

16. 3TN dTfetehT @A (Visitor Tabular Ledger) %1 I1%9 SHIST | 36! I SHETSIAT & 7 3
Draw the format of Visitor Tabular Ledger. Why is it made ?

17. T Bl U Tohe TG ol =0T ST o B: liehi HI GFAA ¢ | 3

Suggest six ways to control cash receipts in a hotel.

18. ﬁﬂﬁrﬁq(average price)WEﬁﬁT%? 3
FrafaReaa ekt @ Wit sfaa Hed (weighted average price) gfe Uehe I TUMT
HIT | g %, Tl Fehe 31 g | At Yehe St M o @G T TF 500 Tohe el HH 6 8 %.
wf Fehe 1 @ 8 Tl Y |

What is average price ?

Calculate weighted average price per packet from the following information :

100 packets of baby corn were purchased at the rate of ¥ 10 per packet and 500
packets of baby corn were purchased at the rate of ¥ 8 per packet.
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19.

20.

21.

22.

23.

24.

25.
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fersht forer v o ©: Ie9g od |

Write any six objectives of sales control.

QT AT = (Food cost control) A THI i T B: TET (obstacles) Bl Tehdl & 7

Describe six obstacles which can occur during food cost control.

o WG (Cash Purchase) T 2 7 39% ©: o9 §am |

AYAT
ECIA[ 34 (Purchase Contract) T s ﬁFQ EIECIGRCICERTICRE (Clauses) 6l ?Eﬁ
918U |

What is cash purchase ? Write its six advantages.
OR
List eight clauses which should be included in a purchase contract.

T 3SR (Purchase Order) G| NS fefifem b (Goods receiving book) T T R
TS S E 7
YAl
i 3T %1 TTed SATC | Heh! ST T T 339 3 7
How and why are purchase order and goods receiving book made ?

OR
Draw a format of a meat tag. What is the purpose of making this ?

Wi hT (Stock Taking)%ﬂ'l'{<‘=h"|"\'UTE|?ITQo | f=fefaa stier @ wie #a fasha
(FTeh A3 <h AT L |

IR Wi (Opening Stock) T Hed — 4000

3| T (Closing Stock) 3T 7 — 2000

g o T3k @rel (Food Consumed) ! TNTd — 60,000

Write four reasons for stock taking. Find out the stock turnover from the following
data.

Value of opening stock — 4000

Value of closing stock — 2000

Cost of food consumed in a month — 60,000

W AN ETh (Food Cost Accounting)%ﬁwqﬁmm |
YAl
ST % MY T AT ohT SRl SHITSTT | Teeh TANTA bl HfeTH H WSy |

Describe the purpose of food cost accounting in detail.
OR
Classify the costs on the basis of their functions and briefly explain each cost.

wge i (Standard Recipe) =T 7 7 3 U HI ﬁ'{?lﬂqﬁeﬁ oot T |

What is a standard recipe ? Describe its importance in detail.
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